FR)-ITHER(104 1%X)

AJOvy
KLT Cadenal Ribbon POTRERO | MLY—7 | BA | BA | k& | B%= | B
KLT ® o o
ol 1| 7] —6 | 4
Cadena 0-1 0-2 1—4
. O o o
i n 3 1 4 —3 3
Ribbo 1—0 0-2 0—2
@ @) o
6 | 4 | 1 +3 | 2
POTRERO 2_0 2_0 0_1
o @ @) O
o— 1 6 | 1
mLo—7 4—1 9—0 1—0 9 7 +
B Owv%
ZA—bRTh-%7 | /8R4 <2< |Cor-de—Rosa jUBB e | Ba | kA | B%kE | B
. O A @)
R 715 |1 4 | 2
RA—FRFR-RA 9—0 0—0 31 +
. o ® A
4 1 1|15 —4 |3
INRO-4-27 0—2 {—3 0—0
Cor-de—Rosa Oéo 3C_)1 4C_)1 7 7 2 +5 1
® A ®
I 11217 ]| —5 | 4
7BB 1—3 0—0 1—4
covsy
1T=VF . Fe|ony-F- 24—+ JEWEL |[BT44—9 | Ba | 85 | &5 | B%E | B
A A O
1T=VT 8, 1o | +1 | 2
et 0—0 0—0 1—o |°
A ® @)
SR 4 22| o |3
IV R R [ 0_0 0_2 2_0
A O @)
7140 +4 | 1
JEWEL 0—0 2—0 2—0
. o o o
— o|lo|5| —5 | 4
RTAT—% 54 0—2 0—2
DJOw%
BEEEXUX| KLT Ligar KSS s | B | &k | B2 | EX
=B @) o
EXo 2 o 01 3 | 1 1 0 1
. o O
1 1 0 2
KLT Ligar 0—1 1—0 3
@) o
3 | 1 1 0 3
KSS 1-0 0—1

* DI OVIIER A D=8 . 3F—LIZEB YR TAPKIZEYRE




BB k—F AR (10—3—10)

1 b —F AUk 2 f—F ATk
— T—1
0—2 PK1—0
2—0 0—1
0—1 1—0 0—1 0—1
] J 2] P TR 4 . K
L RdC E @ B o@lwr y07‘©'L
o o o E R _ g
v s e r W # 1o T = I F — a T
| a - = ot R *k C ~ r
7 L S E 7R 7 L
Bk —F Ak
0—4
0—1 1215 JEWEL
BB Cor—de—Rosa
O_O 1 _1 L oS
PK3—4 PK3—2 . mLT—TF
NIOIPR F®| M BREFUX
b " A bz Y S 5{i RA—hkRTh 2T
b x4 47 s
o A | - 611 KLT Ligar
42 AT=2J 1R, FC
81iL POTRERO
M —F AV MEIF— LD T —J B ofi SR RL—F
KLT | 7uBB | P77~ |ma|ma|xa|nxa| Bt 106 /SR3-4-%%
KLT () () 1L  KSS
o|l2|2|0]|3
Cadena PK1—2|pK1—2 1241 Ribbon
7 @) ® 1361 mTAaA—Y
o_p 3|3|[3|0]|2
— V2 I
BB |pko— 1 1—3 142 J1BB
5] O O 15  KLT Cadena
54 0—0 6|31 |+2] 1
#—4 |pk2—1] 371






